'-'-'-'-'-'-'-'-'-'-'-'-'-'-'-'-"

o L & S - L & D 5 B & = & D & = & D & = & D 5 5 D & = L= 5 = &

% eI

GIFU KYORITSU UNIVERSITY

/?esy/ IS

HA 20234% 3HA25H((x)
% Fh I, B ) iL K = [E £ 3% £ 15
<BERIEO—K 244ozo>

T @ BB WK EELSRBS

H#E REBZF EELIRBRER



F2EGKUEEFH KRS 21— F:23651007

T M IRBHIRF H . RBFAELBEER
BiES  IRBMIRFE RS 00— 81244020

59 R -avTF4ay

Bt (534 PN Tum | R B REE | 15 Ff %
20234 3A25H|10:00 =Y 13.6°C|77.0% |FEILTE 2. Im/s Ik B 1733 KFRE E i iiis
11:00 zY 13.9°C|75.8% |FEILTE 2. 5m/s Ik B 17331 KFRE 3 ikis
12:00 =Y 14.2°C|74.2% |FEILTE 2. 9m/s Ik B 1733 KFRE E i iiis
13:00 zY 15.4°C[73. 4% |FEm#a 2. 5m/s IR B3 KFRE EFiRiE
14:00 =Y 15.9°C[72.3% |FEmada 1. 5m/s Ik B33 KFRE Eiikis
15:00 zY 16.2°C[65.8% [FadE 1. 3m/s |IK B KFREEFH RS

5 E1H
rsvomus  AIFY
So—nrzus B
R IR ]

W

k(S kR
Wt




b e Page: 1
F2EGKUBEREAR  swsion 2023438250 (L) R—E
Ik B 1R 5T KPR E 3R 3RS 244020
13 BA% 143 214 3 afs 5 61 74 8fi
gz |100m x1E BB 10.71/+1.6|@A A 10.85/-0.2|BHE BAQ) 10.98/+2.5|@AK S 11.01/+1.4|=M KT(1) 11.01/+1.0[kE H#EQ 11.03/+2.5/3kE @) 11.06/+0.7|FM XME@) 11.11/+2.9
1RL—ZR B E - B =E - HHEBESK BE - i EHTA B - ETRY-b =B - BRIk BE - EHITK BRE - i EHITA BE - REEILE
100m X{E BE 10.74/-0. 1)K e+ 10.79/-0.1[#E @0(1) 10.87/+1.9|ZM XE|(1) 11.00/-0.1/@AK HE  11.01/-0.1|&FE BN Q@ 11.05/-0.1/BE XBQ) 11.07/+1.9[kH H#EQ 11.09/-0.1
2RL—2R B E - B =E - HHEBESR BE - I IR =E - HEHTX B E - I ETAY-} B E - IR BE - RIS B E - B K
BF— M i EE ABQ) 13m26 | 83k (1) 12m67 |t AXEQ) 1ImBo| L f&fe Nm34|@iE BREO) 10m25
(7. 260kg) BA - IREHIKR B - HEHTK =E - HEHIA E% - 5-3 y3 EFAC RS - AZHES
%5?#@n& B KEHQ 12m40| b8 KF1(1) 6m86
= (6. 000ke) #E - HEYES e - KIERE
BF— Mg AR 3K Q) 40m20| LB e 34m22 |ME  EER Q) 30m40
(2. 000kg) RE - i EHTA E% - -3 v3 EFAC RS - AZEES
oo B I T (2) 26m81)IIL #&34(2) 22m93
= (1. 750ke) B - —ES KE - PELE
BF—h NOT—% EE BEAM 58m39 | EF FFH (2) 49mi1 | ER &M 42m57
(7. 260kg) HE - REHIA =E - HEHTX R% - 5-3 03 REAC
%iﬁ#npv—& wWE BAQ) 5miT|aAR BN () 50m75|fs 2AH Q) 4oma7|E BA) 4omo1| A ME() 30m90| LR &Nt (1) 30m65| X% =18 (1) 36me3|=;Em F¥S5(1) 20m74
=X (6. 000kg) B - ZHE B - BXERS HE - REYES B4 - BED B4 - REZES B4 - REFES BE - IERES BE - BEILE
%EE? R % BHEO) 61mo6 | 8k M (2) 52m65 | =Rk R (2) d6m72| B WER (1) 22m52
B () g00ke) WE - EERTA B - HERBITX BE - TELE BE - TELE
- 100m S = 12.76/+2. 6| KEI#® #i2 (1)13.19/+2. 7T |#a K  EZTED13.22/+2.6|# {£IR(2) 13.84/+2. 711 =F &H<H(2)14.06/+2.7|FF &I (1) 14.07/+2.6 |34 BEBR (1) 14.59/+2.6|FE #TH(2) 15.09/+2.6
1RL—2R =F - ong BE - BRI BE - KiEALE BE - KiEILE B - KiEFEER BE - XEeh KE - R Eh BE - S Eh
100m B Z% 12.65/+1. 3| =H &HHQ14.11/+1.3|FF &) 14.17/+1.3
2R/RL—R = - omg B E - KiEFEERH & - ABpeh
ik WHE ER(Q2) 12m51| KT HHH(1) 11m30| Kith —ZE(1) m88|:FK ZEMm(2) Tmb1
(4. 000kg) BH - REZES B - REFES BH - —ES BE - KB
wp |PEE EZIBE RT 37mdl g% WE () 37m22
— 4% (1. 000kg) ZE-=Z8YvR4—X B - IEEHIX
NoT—1& NE EEO) 5m19|RE 41E (2) omit|@#* #A ) 3ema2| A TR () 2m9 | HE EEQ 26m91
(4. 000kg) B4 - RHERAS WE - HEYES B4 - BXERE HE - IHEREE BE - IEREE
RelUk:'3 BRK FTx52(2) 3MB|KTF HHA) 33m43
(0. 600kg) BH - REZES B - REFES




1&L—Z(14) 38258 11:10
%¥ 100m 2/ L—Z () 38258 13:26

KEE 8 GR) 10.42 B[R EXR(RE - REHIK) 20215 3 @EF-F(+
1XL—X 2144
1#4 El-+2 9 214 E-+0.7
- - R T ST R I R T ST
14 1 BE ARG g s mmmws .11 15 e S BRO g s gegrx 11.06
2 s BN BXm wwin 11.34 2 65318 1cF, BB s twex 11.99
3 2 s HE END g . xEkE 11.71 33 ag0 7% B 2 - TFO 12. 25
4 5 993 J0F BED g s xEmE 11.85 4 018 B BIMD & pmiw DNS
5 31122 BB, ROy e xErE 12.42
3# Bl +0. 8 474 Bl +]. 4
W - KA O = o o K& BB EE ST
151413 fzgﬂ ,}f?f;ﬁ“) & - KERA 11.31 135087 2 S & - ETR-b 11.01
2 4 689 58 WE = g TR0 11.49 2 2 950 5 HED gy g mmepx 1.8
3 3122 B8 AEG gy 11.95 4 163 BN RO p o owm . msgrx DNS
6 7141 1 BXD g & . xgm DNS 51232 T ER@ g win DNS
67619 B MR g e . gpmen DNS
o#f B3 T 674 02
- - R 2 vl A OB E T ST
13 es9 M BAD m - mws 11.45 1 oasie BE BN = g ommemmss 1085
2 5 570 X END g s oxmks 12.00 2 5 s B, ARD s xEkE 11.66
3 6126 7R BEO gy 12.33 3 2 a2 BF B g om0 12.01
4 18 B BRO w @ gegrx DNS 4 37z )IB FBD 8. kg 12.70
5 6 91 ZF HRO w s.mars 13.64
/7 Bl.-0.3 87 Bl +3 5
- S - R =t I R EE TN
13 10 ZHE BRO s geigux 11.33 16 517 HE 8RO g s mgm 11.29
2 51217 JEE BED i 11.90 2 3 o BB BFO e xEwE 11.83
306 83 K BED g e oxEws 12.18 2 s 28 BRO g . xmrs 11.83
42 M BRSO g sz 12.62 4 195 B BEOD @ msgrx DNS
4 139 T KRG @ o ek DNS
9#f &0 1 1074 .+ 3
R - - O @ R - OB T ST
15 200 FF KED g s geprx 11.80 14 1 B OBEQ m o megax 11.14
2 6 13 EIN RO s oxEwE 11.85 2 3 Bl E® = g .mspux 11.37
3 47602 B2 ~ED gy g . g 12. 59 3 6 200 E MED gy 8. ek 12.13
2 24 BB BRO w m.gsprK DNS 4 57453 U EXD s gme 12.14
3 857 28 BLO g s xEwE DNS

Rl ONS: R i5)



1&L—Z(14) 38258 11:10
%¥ 100m 2/ L—Z () 38258 13:26

A=iE 8% (GR) 10.42 FR EBX(RE - KEHIK) 2021% 3 [@43-F1}

17# B +1.0 1248 . +2. 6
e vy e & R E=T- ST - OB EST SN
1 6 208 ﬁﬁ'?/rjgf,ﬁ}” = E-EERTA 11.01 1 4 475 ;SH% ﬁf‘fﬁ B &-TF0 11.12
2 3 104 BE BEO 5 m.msprx 11.38 2 38110 A% BED s gm 11.80
3 5 112 ﬁ?is*ﬁﬁ@ i B KEES 12. 11 3 61131 BR ifw = Wil 11.99
4 4 4 T BE = TR0 12.57 4 5 s B3 EEO o s xEkE 12.39

13# B +]. 6 144 2.5
- - R E=L- ST WLy - OB EST SIS
1 26548 ff\*ﬁl ﬁiﬂ B B - REkE 10. 71 1 3 166 ﬁﬁﬁ%b B B - BRI 10.98
2 47612 BB BRO g s gmen 13.25 2 6 17358 ABO = gegrx 11.03
3 50012 WK, ERD g g X 13.54 3 56061 BfT BN w B .msEp 11.73
318 EXA B @ o chmpETRC DNS 4 a2 FEBCBAG m g 12.34

6 141 Efm?gf E B3 Un BHAC DNS

P y=¥77}

MR L=y o - EEE% mOE 5% BYb
12 6548 ﬁj tu%:ﬂ B - EEgE 10.71/+1.6
2 45162 ’;‘%‘j/ﬁh H/’fﬁ,l, = B mRABER 10.85/-0. 2
3 3 166 B BEND iy s gespux 10.98/+2.5
4 35087 \%f,’yiﬁg B - IHETR-} 11.01/+1.4
5 6 208 ﬁﬁﬁa,ﬁjﬁf) = B-BERTA 11.01/+1.0
6 6 113%F ABO g 8. geprx 11.03/+2.5
7 5 1l BRO g s gsprx 11.06/+0. 7
8 4 131 %g" S0 s REELE 11.11/+2.9

Rl ONS: R i5)



1&L—Z(14) 38258 11:10
%¥ 100m 2/ L—Z () 38258 13:26

<

KEE 8 GR) 10.42 BR EXR(RE - REHIX) 20215 3 @431+
2Kk L—X £5#

17 Bl -1.2 214 B+ 5
- I - R T ST R : T - R B ST
14 407 B F 40 - TFO 12.38 14207 JEE BRO i 11.59
2 31216 B BEO gy 12.38 2 1 200 F1 ABD = gegrx 11.63
3 21201 R BAD g win 12.48 3 5131 BROER o wwill 171
4 5 a3 T BE = m TR0 12.71 4 31222 B8 BES g 11.92

5 6 482 BF Bz g0 11.92
6 2 20308 MED = gegrx 11.94
Il A+ 7 474 &l +1.9
w Ly - K% 7O EF ST Ly - K& OB B ST
15 BB = s .msgx .17 14 s B BRO g s gegrx 10.87
B 11.18 2 3 131 %;'? R0 e REELS 11.07
3 31128 Ejl'q' /f‘ig‘ B oWl 11.29 3 6 146 A BEQ @ o meprx 111
4 6 680 58 HE = g TR0 11.37 4 5 asFEEE 2 om.1R0 11.14
5 26061 B BN m s memp 11.58 5 2 517 0F BAO s mmm 11.27
6 18110 % BED gy g gm 11.90 6 11l BEO g sk 11.36
o#f Bl -0 1
- T - O 2
146 XE EB g s g 10. 74
2 35162 BA g, = E-mmanmss 10.79
3 2 208 ﬁﬁ'?/ﬁ;%;}” = E-REHIX 11.00
4 65087 BF, BE g mmmra-t 11.01
5 5 166 2o BND g s .msgyx 11.05
6 1 17358 ABO e gegrx 11.09
Vov=077 1
- - O Eal ] 249h
146 XE EB g sy 10. 74/-0. 1
2 35162 A BT = 5. mmanmes 10.79/-0.1
3 4 1sa L BHO g s megyx 10.87/+1.9
4 2 208 BB ARD = 5. gegrx 11.00/-0. 1
5 65087 B, BE g m.msra-t 11.01/-0.1
6 5 166 77 BNO p os.msprx 11.05/-0. 1
7 3 131 BB FRO g e amELs 11.07/+1.9
8 1 173 %E ARQD w s.gapyx 11.09/-0. 1

' Wk



%% B fadix (7. 260kg)

R 3A258 10:00

£ 5042 GR) 17m70 Wt £ (% - ROBLE) 20202 4 E43-{
Sp
K & OB | IEE 2688 3EE 4EE | SEE| 6EE | 25 | 14
EE ABOQ) B &0PN)
1 4 155%31_,\%%1?) éif’égﬁ) 12m39| 13m15| 12m70| 12m23| 12m60| 13m26| 13m26
38 I'L ESS l]
2 5 2061:\;:';%7]7(%(3) EET%ELLJP*N) 12m61| 12m38| 12m67, 12m66| 12m48 X | 12m67
3 3 14711;%“& gﬁ?qa Eigi’%jgﬁ) 11m56, 11m60| 11m89| 11m62| 11m31 X | 11m89
4 1| 13t @“ | &_:#3’125%],40 11m07 11m21] 11m14| 11m34| 11m32| 10m91| 11m34
HiE BHQ) [ E B (PN
5 21949’;%“ij {H\‘t E%lﬂ’é% 10m05| 10m25| 10m10| 9mi14 X 10m19| 10m25
= 4k JL P 3A258 10:00
BFU20-E4% FafLi% (6. 000kg) oA
£05% GR) 15m40  EiE Fi(=F - hEK) 2019% 3 [E43-1}
Sp
IS - FOE | IEE| 2EE 3EE | 4EE SEE| 6EE | 25 | 14
BHE KXBQ & BN
1 21028?:;/% 9;1;7(1) ﬁ,ﬁzﬁ) 12m10, 11m91| 12m34| 11m12| 12m40| 11m71| 12m40
|
2 1] 945 159 4391 KiEES 6m86/ 6mb8| 6m45| 5m66 X 6m67, 6m86
BF—4% FI8HR (2. 000ke) *# amzE 1z
£ 052 GR) 9n75 kI FEEE - BEEEKR) 20175 2 @H-H}
Sp
- - FOE | IEE| 2EE 3EE | 4EE SEE | 6EE | 25 | 1A
A K Q) B E (JPN) —
1 3 236321]; /Eg; Eﬁtg’%gﬁ) X 38m47 X 40m20| 40m20
2 2873 % ”jézt ) a—:h“;x; EE)%AC 34m22| — x | 33m75| 34m08  — | 34m22
HiE ARG E 5PN T _
3 11949’)’?71%1\ e = 30m40 X x | 30m40
=15 R 38258 12:31
BFU20- =8 M (1. 750kg) N R 3R25H
KFER GR) 48m34 W EIE(HE - FTHEE) 201855 2 [g]
Sp
nﬁmﬁgwn*— E % OB | IEE| 268 3EE | 458 | 5EE | 68 | 25 | 1A
N BE Q) B & 0PN . . _
1 1ees 0 555; | _EQ( | x 22m60 23m81 23m81
JE &3 (2) |k JPN _
2 2 447 A7h3 19h FEt= X 22m93 X X 22m66| 22m93




BF— /\>ov—#% (7. 260kg)

=508k (GR) 68mb7  HERY E#C (FERE - R XFE#AC) 2020% 4 [EIYv-F4 b
Sop
K & % OB | IEE 6B 3EE 468 SEE | 6EE | 28 | vk
= BEANN) # & (JPN) _ _ _
1 3 215?‘%’] 72%(2) mii,%%g(m 58m39 X X 58m39
g = _ _ _
2 2 160752/J$P/E%ﬁ3 Eﬁg’%gﬁ) 48m98 X 49m11| 49m11
B 34 _
3 1] 873 JINS 597 hosh va EBAC — — | 41m67| 42mb7| 42m43 42m57
BFU20-58 /"> —1% (6. 000kg)
=itk (GR) 10m23  {EARAKR F} (M- IEBEHIK) 20205 1EKFTE
S
IRz ﬁ% T~ K 4 T B 1E18 | 2EB | 3EA | 468 | 5EIE | 6BIB | iE&k | I Vb
#E BANQ) & Z(JPN)
1 977777 g;k "%?5’;0 :H? - x x | 57m48 x | 5Im77 x | 5m7]7
J = A
2| 6/1647 :/ﬁa%w&ﬁ (2) ﬂgﬁi(ﬁdﬁl) 40m42 X X x | 50m75 x | 50m75
3 510171‘//\“ ﬂi;m :EE;(.JP”N) — | 49m21 x | 49m47 X X | 49m47
E KA Z _ _
4 34496M;'K|/‘ffg - %EE(JPN) x | 39m45 40m91 X 40m91
=2 HE Al
5 77737 i{l—li ";”}ﬂ(]) giﬁif_ﬁ) x | 39m90 X x X x | 39m90
i N = _ —
6 477364—_%1] H*’ﬁm) Eﬁﬁﬁ\l) X 39m32| 39m65 X | 39m65
X8 5 _
1 2 93077/ i gﬁé\ﬁpﬁ,\l) 36m83 X X X X | 36m83
£E2H 7550 _
8 1] 923 ;;7#;&j{ . :qg%jt_ﬁpm x | 20m74 X X x | 20m74
& JE A i B
81019337% 199 BEES x| x| X NM
JL
%% e P (0. 800ke)
=58k (GR) 66m91  JKEF {HEK (IRE - 1% KAC) 2020% 2 [EI¥v-T4 b
Sop
IRz ﬁ% TN - K 4 B =8 | 2EEB | 3EE | 4EEB | 5EE | 6EB | 88 | 1 vt
&% £ Q) |l B (JPN) _ _ _ _
1 5 1401/%% 2}} » EEE]’%PKN) 60m00 61m06| 61m06
F A [ _ _ _
2 3 156 Q'LWL¢(2) gﬁg’égﬁ) 51m30 X | 52m65| 52m65
EREE R _ —
3 4] 446 mE Y Ua%\{m E;EE'E’JPN) x | 41m29 X | 46m72 46m72
Ee B _ _ _
4 1| 924 DA /\74 FedE 22m45 22m52 X | 22m52
217738 BEH E#HA) | & (IPN) DNS

5 4% ZRFES

R 3A258 13:52

R 3A258 13:52

RE 3A258 11:20

Rl (NM :5Egk7 L/ DNS:R - 15)



\

1RL—2(2) 3A258 10:59
XF 100m 2 RL—2  3H2%HE 13'22

\

K& GR) 11.98 %% EBEFF(EHM-ToV—) 20225 1 BIFvLYY
1L—R £2#
174 B2 6 24 & +2. 7
W e K& wOE ESL- BTN L - R4 OB E ST TN
1 oasus A5 EE = 3 .om 12.76 13515 28 MED gy & . g 13.19
2 5 317 BF EFRO s xEkE 13.22 2 4 316 M ERD e xEtE 13.84
3 38237 7 ‘l%f““) B B - KBk 14.07 3 28148 fﬂ,}.?c‘”‘” B B . KiEFEEh 14.06
4 sz B BEHO g s gmn 14.59 4 57983 1B DED g s g 15. 80
5 27846 ?@Etjﬁ” @ g s.xEH 15.09 6 474 #F ﬁ;g“) B B AELS DNS
P y=¥77-}
BB L=y o - !:_g g_ m B E0ER =PI
1 45246 ;ﬁ}’;ﬂ FE = 3 -om 12.76/+2.6
2 35135 SEE MEW w &g 13.19/+2.7
3 5 317 i’jﬁ n‘ff%(” B B - KELS 13.22/+2.6
4 4 316 ,*\;E:/ ERO g om.oxElE 13.84/+2.7
5 28148 57,27 & . xEmme 14.06/+2.7
6 3827 ‘l%f““) i B - AHh 14.07/+2. 6
7 6012 8 FHO g s gmen 14.59/+2. 6
8 27846 ?@Etjﬁ” @ g s.xE® 15.00/+2. 6
9 57983 EFJJ;E‘Q(Z) i & - R 15.80/+2.7
2L —X B+ 3
Wy e K& R E=T- ST
1 35246 ,ﬁfﬁ* EE = 2 -om 12.65
2 48148 57 0P g & xEmme 1411
3 582377 ‘l%f““) B B - KBk 14.17

Rl ONS: R i5)



TF—E® ft# (4. 000ke)

=508k (GR) 13mlb A T4 GERE - PERX) 2019%% 3 [E43-F4+
SHof
K & % B |IEE 268 3EE| 468 SEE | 6EE | :E | v
WH ER(2) & (PN
1 48602*,7&0 4 Eﬁfﬁq) 11m86| 12m35| 12m26 X 12m51 X | 12m51
FSEE A IONERE
2 336153;4:/{g Eﬁﬁm giﬁif_ﬁ) 10m91| 10m85| 10m66| 11m12| 11mi15| 11m30| 11m30
o — ZF &
3 11285ﬁ4},€ b;'r\._](z) HEEE(JPN) X Tm88 X m10| 7Tm62, 7Tm81| 7Tm88
=¥ a
4 2 315:/'2? 414 XiEd = m17| 7Tmd40| 6m42| 6m74| Tm48| Tmb1| Tmb1
=1% JL
TF— S A2 (1. 000ke)
LB GR) 45m13  YEE EAR (BH - FERERK) 20198 3 [@Hv-14}
SHoff
K & W OB | IEE | 268 | 3EE | 4EE | SEE | 6EE| 2 | 14
EZIE B¥ |= ZE(WPN) _ _ _
1 15747#,”07 17 ) %E??é’ﬂ—)?(‘ 36m27 37m41 X | 37Tm41
EE wEG) |8 @ (PN
2 22037 5% . N I £2 72 7 x | 32m70 x | 37m22 X x | 37m22
—r L
£ F—RREH V2T —1% (4. 000kg) |
SR8 (GR) 57ml0 AR KR (EE - fRERX) 2019%8 2 [E174-h}
SHof
K & W OB | IEE | 268 | 3EE | 4EE | SEE | 6EE| mE | 14
MR EGQ) B AN _
1 54894%/\; Xgig(z) %EEﬁP‘%F x | 48m99 X X 50m19 50m19
=& B _ _
2 41010%;”%}3 o @,ﬁf_ﬁ) 39m10 x x | 39m11| 39m11
n = Nl _ _
3 31074653’;”34]&(1) Eﬁzﬁﬁl) 36m33| 37m90| 38m42 X | 38m42
2K X _ _ _
4 1| 521 ;u# T . gﬁgﬁﬁ) X 30m16 32m39| 32m39
'T’E =4 xr _
5 2 199/,{\ ,”f:E' BERAE X 26m91 X X X 26m91
=415 JL
ZF—fgEH Y% 0. 600ke)
=E0Ek (GR) 50m96 FHiE HF(EHM - fhRX) 2022% 2 [A]
R
[ “% Fon' - K 4 T B 1E18 | 2@EB | 3EA | 468 | 5EIE | 6BIB | &8k | 3 v
#Kk =£5202 | 4%0(JPN) _ _ _ _ _
1 2860511\4 #37?3 - giﬁif_ﬁ) 39m98 39m98
AT #uH0) |B M _ _ _ -
2 13615#/:/,} 43 RESES 30m78 33m43 33m43

R 3A258 10:00

REs 3A258 12:31

R 3A258 13:52

RE 38258 11:20



